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Jod0ododododao. (whicht O) (Who/how/what [
[1) is a prevalent topic undergoing serious debate. There exist two
obvious and definite opinions regarding this controversy: A and B.
personally, I would like to vote for A for three reasons. The main
reason for my propensity for A is thatd [ What is also worth
noticing fact is thatld LI A is superior in another way, this isC] 1t s
undeniable that B has its own merits. However, B can only be
achieved conditionally because[d From what has been discussed
above, we may safely draw the conclusionthat ... 2.00 O O 0O O [0,
JOo00o00o00dododao. (compare &mp. contrast) To
choose A or B is something of a dilemma to the public because they
sometimes are confused by the seemingly good qualities of A, and
neglect the genuinely good aspects of B. For A, A J I [0 [0 [
However, this "advantage" betrays a hidden drawback of A. ALJ [
[1 OJ . For instance, Furthermore, ALJ U0 0O O OO O . O A good case
In pointis... On the contrary, BLI [ [ 1, A particular example for
this sl Moreover, BO [ [ 2,for exampleld From what has been
discussed above, | may safely draw the conclusion that B fits me
betterintwoways:BU O U 1.BOOO2. ()0 O OOO 1.O00
Joo,00o0ddodobooooo,0odoooooao
Joo0. (o 0oooooyoooooood



[1 paraphrase. After pondering this opinion from several aspects, |
totally agree (disagree) with it. The reasons are presented below.
There is no denying thatl] Another reason why | agree (disagree)
with XXX is thatl] Finally,[] Based on the above discussion, | agree(
disagree ) with the opinionthat] DO OO0 OO0 OO0 OO
JdodoboooooodooooooouoooooDoa(
WhichOUO OO O 0O00000O) (00O O agree)
(Who/how/what L1 [1) is a prevalent topic undergoing serious
debate. There exist two obvious and definite opinions regarding this
controversy: A and B. personally, | agree with the above statement
that A is superior to B. The main reason for my propensity for A is
that] L1 What is also worth noticing fact is thatl] [J A is superior in
another way, thisisJ It is undeniable that B has its own merits.
However, B can only be achieved conditionally becausel] From
what has been discussed above, we may safely draw the conclusion
that... (0)DUOOOOOO O OOO0OO0OOOODOO There exist
various choices in doing XXX such as A,B,C,D. As faras | am
concerned, | prefer C most for three reasons. The main reason for
my propensity for C is thatl] [1 What is also worth noticing fact is
that[] (1 C is superior in another way, this isLI From what has been
discussed above, | may safely draw the conclusion that choosing C is
most sensible for me/us. [In summary, I prefer C according to my
personalityand fondness.] (U0 U OO0 O 1. O000000O,00
DOo00o000.000000 Asisknowbyall, 0 0 Among
countless factors which contribute to XXX, there exist three most
conspicuous ones: One of the primary causes is that[] XXX also



results from0] [ is responsible for xxx, as well. To put all into a
nutshell, I draw the conclusion that A,B and C are three main
contributors to XXX 2. What should we do? How do something
influence our lives? what are the characters of something. U [0 O [
There are numerous approaches to solvingl] /impacts on sth.
/characteristics of J , and | would explore the most conspicuous
ones there. One of the primary method, to my mind, is thatl] one of
the primary impact, to my mind, is thatl] one of the primary
characteristic, to my mind, is thatl] a more subtle point which we
must consider is thatl] In addition/ furthermore O [ In
conclusion, Taking into account of all these methods/ affects /
aspects, we may reach the conclusion thatd [J 100Test O UJ 0 O O
Jo0odobdodoodobooodd www.100test.com



